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In(cos(x—1))
L. o 1-sin(Zx)

(5‘7)

\/1+tanx—\/l+sinx

2. lim > (5%)
3. y:1+\7i_nx ’ xzy"+xy'+(x2—%)y=? (5%)
x
4. f(x):(\/x+2)ﬁ; » '(4)=2 (5%)
(100)(0) ;
5. MW= 2’ oo . (10%)
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7. fx)=x"-5%" +10x-3 » K38 ¥48 K4 R A8 EHEME (10%)

=3 e (50%)

8. A manufacturer of CCU-Pads, tablet PC, finds that its total cost in producing 100
CCU-Pads per week is C(100)=$2150 and that its marginal cost is MC(x)=10+0.2x
dollars per CCU-Pad at production level x CCU-Pads per week.

(1) Find the amount by which total cost will increase if production is increased from
a=100 to 5=120 CCU-Pads per week. (5%)
(2) Find the total cost in producing 120 CCU-Pads per week. (5%)
9. Find

1) _[e Jx In xdx (5%)

2) Iex cos xdx (5%)
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10.Evaluate |sec2xdx and .fsecz 2xdx (10%)
2 2 2 2
Whrove [ dr [[(x* +30+y")dy = [y [[(x> + 33+ y2)dx (10%)

4 [ ey
12.Evaluate the iterated integral IO { L (x+y )dx }dy (10%)



